GB Connector Covers

Shown for P
Reference Only

________________________________



GB Connector Covers

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 A 1141670-NLA | NLA - GB Connector Cover w/o Wheel Lock 1 1
Assembly - Right

2 Bracket, Cover, Connector, Black - Right 1 1

3 Bracket, Cover, Connector, Top, Black - Right 1 1

4 NLA - Screw, Phillips Pan Head w/ Patch (#10-32 x 1 4
3/8")

5 NLA - Washer, Plain (3/16 x 1/2 x 1/16") 1 2
Sheet, Instruction 1 1

1 A 1141671-NLA | NLA - GB Connector Cover w/o Wheel Lock 1 1
Assembly - Left

2 Bracket, Cover, Connector, Black - Left 1 1

3 Bracket, Cover, Connector, Top, Black - Left 1 1

4 NLA - Screw, Phillips Pan Head w/ Patch (#10-32 x 1 4
3/8")

5 NLA - Washer, Plain (3/16 x 1/2 x 1/16") 1 2
Sheet, Instruction 1 1

6 B 1141672 GB Connector Cover w/ Wheel Lock Assembly - 1 1
Right

2 Bracket, Cover, Connector, Black - Right 1 1

4 NLA - Screw, Phillips Pan Head w/ Patch (#10-32 x 1 2
3/8")

5 NLA - Washer, Plain (3/16 x 1/2 x 1/16") 1 2
Sheet, Instruction 1 1

6 B 1141673 GB Connector Cover w/ Wheel Lock Assembly - 1 1
Left

2 Bracket, Cover, Connector, Black - Left 1 1

4 NLA - Screw, Phillips Pan Head w/ Patch (#10-32 x 1 2
3/8")

5 NLA - Washer, Plain (3/16 x 1/2 x 1/16") 1 2
Sheet, Instruction 1 1

NOTE: A -Includes items 2-5 and instruction sheet.
B - Includes items 2, 4, 5 and instruction sheet.




